					Construction NC	VTF Exca	avation LLC	Outdoor Ent	erprise LLC
Item	Description	Unit	Qty	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
201	CLEARING AND GRUBBING	LUMP	1	\$5,000.00	\$5,000.00	\$5,092.95	\$5,092.95	\$5,000.00	\$5,000.00
202	REMOVED, AS PER PLAN	LUMP	1	\$20,000.00	\$20,000.00	\$4,555.85	\$4,555.85	\$9,000.00	\$9,000.00
202	PIPE REOMVED, 24" AND UNDER	FT	181	\$10.00	\$1,810.00	\$14.40	\$2,606.40	\$6.00	\$1,086.00
202	WALK REMOVED	SF	265	\$2.00	\$530.00	\$2.27	\$601.55	\$5.00	\$1,325.00
202	CATCH BASIN ABANDONED	EACH	1	\$250.00	\$250.00	\$271.67	\$271.67	\$400.00	\$400.00
202	CATCH BASIN REMOVED	EACH	3	\$450.00			\$765.24	\$600.00	\$1,800.00
203	EXCAVATION	CY	2399	\$14.00	\$33,586.00	\$18.77	\$45,029.23	\$15.00	\$35,985.00
203	EMBANKMENT	CY	4174	\$14.00	\$58,436.00	\$11.12	\$46,414.88	\$5.00	\$20,870.00
204	SUBGRADE COMPACTION	SY	6772	\$1.00	\$6,772.00	\$1.06	\$7,178.32	\$1.00	\$6,772.00
204	EXCAVATION OF SUBGRADE	CY	690	\$14.00	\$9,660.00	\$14.16	\$9,770.40	\$25.00	\$17,250.00
204	GRANULAR EMBANKMENT	CY	690	\$34.00	\$23,460.00	\$40.76	\$28,124.40	\$45.00	\$31,050.00
204	PROOF ROLLING	HR	5	\$75.00	\$375.00	\$187.15	\$935.75	\$150.00	\$750.00
204	GEOGRID, AS PER PLAN	SY	6183	\$3.00	\$18,549.00	\$3.01	\$18,610.83	\$4.00	\$24,732.00
254	PAVEMENT PLANING, ASPHALT CONCRETE	SY	11684	\$2.50	\$29,210.00	\$3.20	\$37,388.80	\$3.00	\$35,052.00
301	5" ASPHALT CONCRETE BASE, PG64-22	CY	598	\$150.00	\$89,700.00	\$169.04	\$101,085.92	\$155.00	\$92,690.00
304	AGGREGATE BASE	CY	1137	\$34.00	\$38,658.00	\$40.76	\$46,344.12	\$55.00	\$62,535.00
407	NON-TRACKING TACK COAT	GAL	1439	\$6.50	\$9,353.50	\$7.24	\$10,418.36	\$6.00	\$8,634.00
411	STABILIZED CRUSHED AGGREGATE	CY	319	\$30.00	\$9,570.00	\$29.32	\$9,353.08	\$80.00	\$25,520.00
441	1-1/4"ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG64-22	CY	555	\$165.00	\$91,575.00	\$198.02	\$109,901.10	\$180.00	\$99,900.00

	1-1/4"ASPHALT								
441	CONCRETE SURFACE	CY	8						
441	COURSE, TYPE 1, (448),	CY	8						
	PG64-22 (DRIVEWAY)			\$820.00	\$6,560.00	\$241.49	\$1,931.92	\$220.00	\$1,760.00
	ASPHALT CONCRETE								
441	INTERMEDIATE	CY	162						
441	COURSE, TYPE 2 (448)	CI	162						
	(SCRATCH COURSE)			\$145.00	\$23,490.00	\$182.32	\$29,535.84	\$170.00	\$27,540.00
	1 -3/4" ASPHALT								
441	CONCRETE	CY	209						
771	INTERMEDIATE	CI	209						
	COURSE, TYPE 2, (448)			\$150.00	\$31,350.00	\$182.32	\$38,104.88	\$170.00	\$35,530.00
	1 -3/4" ASPHALT								
	CONCRETE								
441	INTERMEDIATE	CY	8						
	COURSE, TYPE 2, (448)								
	(DRIVEWAY)			\$800.00	\$6,400.00	\$418.80	\$3,350.40	\$220.00	\$1,760.00
	6" NON-REINFORCED								
452	CONCRETE PAVEMENT,	SY	203	400.00	440.270.00	406.66	447 504 00	460.00	442 400 00
	CLASS QC1			\$90.00	\$18,270.00	\$86.66	\$17,591.98	\$60.00	\$12,180.00
	9" NON-REINFORCED	~~~							
452	CONCRETE PAVEMENT,	SY	241	6400.00	624 400 00	ć07.70	¢22 F4F 70	ć72.00	617.252.00
	CLASS QC1			\$100.00	\$24,100.00	\$97.70	\$23,545.70	\$72.00	\$17,352.00
510	TYPE 2	OX.	2715						
512	WATERPROOFING, AS	SY	2715	\$14.50	\$39,367.50	\$15.98	\$43,385.70	\$16.00	\$43,440.00
	PER PLAN TIED CONCRETE BLOCK			\$14.50	\$39,307.30	\$13.36	Ş 4 3,363.70	\$10.00	\$45,440.00
601	MAT, TYPE 2	CY	11	\$190.00	\$2,090.00	\$100.44	\$1,104.84	\$100.00	\$1,100.00
602	CONCRETE MASONRY	C.Y.	0.6	\$1,200.00	\$720.00	\$2,327.00	\$1,396.20	\$2,000.00	\$1,200.00
	4" BASE PIPE			, , :::::	,	. ,-	, ,=====	, , ,	, , =====
605	UNDERDRAINS, AS PER	FT	4640						
	PLAN			\$8.00	\$37,120.00	\$6.60	\$30,624.00	\$8.00	\$37,120.00
608	4" CONCRETE WALK	SF	25716	\$5.00	\$128,580.00	\$5.31	\$136,551.96	\$5.00	\$128,580.00
600	COMBINATION CURB	ET	4020						
609	AND GUTTER, TYPE 2	FT	4820	\$20.00	\$96,400.00	\$22.16	\$106,811.20	\$20.00	\$96,400.00
611	4" CONDUIT, TYPE B,	FT	110	4.0		4	4	4.5	4
J11	707.45, STORM REPAIR		110	\$2.00	\$220.00	\$9.81	\$1,079.10	\$10.00	\$1,100.00
611	6" CONDUIT, TYPE B,	FT	100	¢2.00	6200.00	¢12.47	¢1 247 00	ć12 00	¢1 200 00
	707.45, STORM REPAIR		ļ	\$3.00	\$300.00	\$12.47	\$1,247.00	\$12.00	\$1,200.00

			1				1		
611	8" CONDUIT, TYPE B, 707.45, STORM REPAIR	FT	100	\$4.00	\$400.00	\$14.83	\$1,483.00	\$14.00	\$1,400.00
611	12" CPSLP STORM SEWER, AS PER PLAN	FT	942	\$42.00	\$39,564.00	\$36.72	\$34,590.24	\$50.00	\$47,100.00
611	15" CPSLP STORM SEWER, AS PER PLAN	FT	477	\$50.00	\$23,850.00	\$44.36	\$21,159.72	\$60.00	\$28,620.00
611	18" CPSLP STORM SEWER, AS PER PLAN	FT	250	\$55.00	\$13,750.00	\$37.41	\$9,352.50	\$70.00	\$17,500.00
611	24" CPSLP STORM SEWER, AS PER PLAN	FT	975	\$60.00	\$58,500.00	\$47.13	\$45,951.75	\$80.00	\$78,000.00
611	30" CPSLP STORM SEWER, AS PER PLAN	FT	297	\$65.00	\$19,305.00	\$60.47	\$17,959.59	\$90.00	\$26,730.00
611	30" POLPROPYLENE CORRUGATED DOUBLE WALL PIPE, 707.65, AS PER PLAN	FT	41	\$94.00	\$3,854.00	\$93.80	\$3,845.80	\$100.00	\$4,100.00
611	TYPE 2-2B CATCH BASIN	EACH	4	\$1,800.00	\$7,200.00	\$1,048.73	\$4,194.92	\$1,500.00	\$6,000.00
611	TYPE 3 CATCH BASIN	EACH	2	\$2,100.00	\$4,200.00	\$4,481.60	\$8,963.20	\$3,000.00	\$6,000.00
611	TYPE 3A CATCH BASIN	EACH	18	\$1,800.00	\$32,400.00	\$2,143.77	\$38,587.86	\$2,300.00	\$41,400.00
611	TYPE 3 STORM SEWER MANHOLE	EACH	5	\$2,300.00	\$11,500.00		\$15,867.75	\$2,800.00	\$14,000.00
611	TYPE 3 STORM SEWER MANHOLE W/ GRATED LID	EACH	5	\$2,300.00	\$11,500.00	\$3,230.30	\$16,151.50	\$2,700.00	\$13,500.00
611	SANITARY MANHOLE RECONSTRUCTED TO GRADE	EACH	5	\$800.00	\$4,000.00	\$1,308.86	\$6,544.30	\$1,000.00	\$5,000.00
614	MAINTAINING TRAFFIC	LUMP	1	\$15,000.00	\$15,000.00	\$7,545.45	\$7,545.45	\$5,000.00	\$5,000.00
621	RAISED PAVEMENT MARKER REMOVED	EACH	4	\$50.00	\$200.00	\$45.28	\$181.12	\$50.00	\$200.00
623	CONSTRUCTION LAYOUT STAKES AND SURVEYING	LUMP	1	\$12,000.00	\$12,000.00	\$13,945.84	\$13,945.84	\$6,000.00	\$6,000.00
624	MOBILIZATION	LUMP	1	\$20,416.15	\$20,416.15	\$19,750.92	\$19,750.92	\$10,000.00	\$10,000.00
625	CONNECTION, FUSED PULL APART	EACH	72	\$75.00	\$5,400.00	\$70.39	\$5,068.08	\$15.00	\$1,080.00
625	CONNECTION, UNFUSED PULL APART	EACH	24	\$64.00	\$1,536.00	\$77.40	\$1,857.60	\$12.00	\$288.00

	CONNECTION, UNFUSED								
625	PERMANENT	EACH	3	\$125.00	\$375.00	\$42.50	\$127.50	\$40.00	\$120.00
	LIGHT POLE,								
	DECORATIVE, AS PER								
625	PLAN	EACH	24	\$1,500.00	\$36,000.00	\$1,621.97	\$38,927.28	\$1,900.00	\$45,600.00
	LIGHT POLE								
	FOUNDATION, AS PER								
625	PLAN	EACH	24	\$785.00	\$18,840.00	\$821.66	\$19,719.84	\$1,200.00	\$28,800.00
	No. 6 AWG. 600 VOLT								
625	DISTRIBUTION CABLE	FT.	13809	\$1.00	\$13,809.00	\$0.78	\$10,771.02	\$0.60	\$8,285.40
	No. 2 AWG. 600 VOLT								
625	DISTRIBUTION CABLE	FT.	20289	\$1.75	\$35,505.75	\$1.67	\$33,882.63	\$1.50	\$30,433.50
	No. 4 AWG. GROUND								
625	WIRE	FT.	4603	\$1.50	\$6,904.50	\$1.32	\$6,075.96	\$0.80	\$3,682.40
	No. 12 AWG. POLE AND								
625	BRACKET CABLE	FT.	4320	\$0.65	\$2,808.00	\$0.46	\$1,987.20	\$0.25	\$1,080.00
625	3/0 SERVICE CABLE	FT.	270	\$4.50	\$1,215.00	\$4.89	\$1,320.30	\$5.75	\$1,552.50
	CONDUIT, 2", 725.051, AS					·			
625	PER PLAN	FT.	2129	\$12.00	\$25,548.00	\$3.56	\$7,579.24	\$6.70	\$14,264.30
	CONDUIT, 2-1/2", 725.051,								
625	AS PER PLAN	FT.	2336	\$12.60	\$29,433.60	\$4.49	\$10,488.64	\$8.60	\$20,089.60
	CONDUIT, JACKED OR								
	DRILLED, 4", AS PER								
625	PLAN	FT.	81	\$35.00	\$2,835.00	\$27.28	\$2,209.68	\$14.00	\$1,134.00
	LUMINAIRE,								
	DECORATIVE, AS PER								
625	PLAN	EACH	24	\$1,350.00	\$32,400.00	\$1,549.98	\$37,199.52	\$1,400.00	\$33,600.00
625	PULL BOX, 725.06, SIZE 4	EACH	1	\$1,400.00	\$1,400.00	\$1,239.63	\$1,239.63	\$600.00	\$600.00
625	GROUND ROD	EACH	25	\$60.00	\$1,500.00	\$147.37	\$3,684.25	\$180.00	\$4,500.00
	POWER SERVICE, AS			, = = = =	, ,====	, , ,	1-,	,	, , ,
625	PER PLAN	EACH	1	\$9,000.00	\$9,000.00	\$3,347.00	\$3,347.00	\$12,000.00	\$12,000.00
	REMOVAL OF GROUND					. ,	. ,	. ,	. ,
630	MOUNTED SIGN AND	EACH	2						
	REERECTION			\$150.00	\$300.00	\$90.56	\$181.12	\$72.00	\$144.00
	REMOVAL OF GROUND								
630	MOUNTED SIGN AND	EACH	12						
	DISPOSAL			\$75.00	\$900.00	\$18.11	\$217.32	\$22.00	\$264.00

	REMOVAL OF GROUND								
630	MOUNDED POST AND	EACH	14	\$75.00	\$1,050.00	\$18.11	\$253.54	\$28.00	\$392.00
	DISPOSAL GROUND MOUNTED			\$75.00	\$1,030.00	Ş10.11	7233.54	Ş28.00	7372.00
630	SUPPORT, NO. 3 POST	FT	180	\$11.00	\$1,980.00	\$14.49	\$2,608.20	\$12.00	\$2,160.00
630	SIGN, FLAT SHEET	SF	88	\$25.00	\$2,200.00	\$28.98	\$2,550.24	\$28.00	\$2,464.00
	12" AWWA C-900 DR-18								
638	WATER MAIN, AS PER	FT.	134	\$120.00	\$16,080.00	\$98.82	\$13,241.88	\$140.00	\$18,760.00
	PLAN TAPPING SLEEVE AND			\$120.00	\$10,060.00	\$90.02	\$15,241.00	\$140.00	\$18,760.00
638	VALVE, AS PER PLAN	EACH	2	\$5,000.00	\$10,000.00	\$8,024.79	\$16,049.58	\$8,200.00	\$16,400.00
638	FIRE HYDRANT	EACH	4						
030	REMOVED AND RESET	LACII	7	\$1,300.00	\$5,200.00	\$1,440.33	\$5,761.32	\$1,200.00	\$4,800.00
638	WATER VALVE ADJUSTED TO GRADE	EACH	4	\$275.00	\$1,100.00	\$45.28	\$181.12	\$70.00	\$280.00
	WATER METER			\$275.00	71,100.00	745.20	7101.12	\$70.00	Ş200.00
638	CHAMBER ADJUSTED	EACH	1						
	TO GRADE			\$400.00	\$400.00	\$90.56	\$90.56	\$250.00	\$250.00
644	EDGE LINE, 4"	MILE	0.06	\$6,600.00	\$396.00	\$5,083.33	\$305.00	\$5,000.00	\$300.00
644	LANE LINE, 4"	MILE	0.26	\$1,700.00	\$442.00	\$3,537.77	\$919.82	\$3,200.00	\$832.00
644	CHANNELIZING LINE, 8"	FT	210	\$1.80	\$378.00	\$2.23	\$468.30	\$2.00	\$420.00
644	CENTERLINE	MILE	1.24	\$4,500.00	\$5,580.00	\$5,487.77	\$6,804.83	\$5,000.00	\$6,200.00
644	LANE REDUCING	EACH	2	4200.00	45000	4204.06	4600 70	4275.00	4550.00
	ARROW			\$280.00	\$560.00	·	\$603.72	\$275.00	\$550.00
644	LANE ARROW	EACH	18	\$105.00	\$1,890.00		\$2,173.32	\$110.00	\$1,980.00
644	DOTTED LINE, 4"	FT	649	\$2.00	\$1,298.00	\$2.17	\$1,408.33	\$2.00	\$1,298.00
659	SEEDING AND MULCHING, AS PER	SY	12562						
039	PLAN	31	12302	\$3.50	\$43,967.00	\$3.67	\$46,102.54	\$6.50	\$81,653.00
832	EROSION CONTROL	EACH	10000	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.01	\$100.00
	MANUFACTURED			·	-			·	-
895	WATER QUALITY	EACH	1			4	4	4	4
	STRUCTURE			\$18,000.00	\$18,000.00	\$17,003.54	\$17,003.54	\$16,000.00	\$16,000.00
SPEC	MAILBOX REMOVED AND RESET	EACH	2	\$250.00	\$500.00	\$286.16	\$572.32	\$350.00	\$700.00
	AND KESEI			7230.00	7500.00	7200.10	7372.32	7550.00	7700.00
	GRAND TOTAL BASE BID			\$1,487	,182.00	\$1,499	9,767.00	\$1,560,	219.70

	Decorative ete LTD	Engineer's Estimate		
Unit Price	Total Price	Unit Price	Total Price	
\$800.00	\$800.00	\$10,000.00	\$10,000.00	
\$25,953.00	\$25,953.00	\$20,000.00	\$20,000.00	
\$13.50	\$2,443.50	\$15.00	\$2,715.00	
\$3.50	\$927.50	\$5.00	\$1,325.00	
\$750.00	\$750.00	\$500.00	\$500.00	
\$650.00	\$1,950.00	\$250.00	\$750.00	
\$19.50	\$46,780.50	\$12.00	\$28,788.00	
\$19.25	\$80,349.50	\$15.00	\$62,610.00	
\$1.50	\$10,158.00	\$2.00	\$13,544.00	
\$38.75	\$26,737.50	\$15.00	\$10,350.00	
\$34.50	\$23,805.00	\$40.00	\$27,600.00	
\$90.00	\$450.00	\$160.00	\$800.00	
\$4.25	\$26,277.75	\$5.00	\$30,915.00	
\$1.69	\$19,745.96	\$3.00	\$35,052.00	
\$154.00	\$92,092.00	\$145.00	\$86,710.00	
\$42.90	\$48,777.30	\$35.00	\$39,795.00	
\$6.60	\$9,497.40	\$2.00	\$2,878.00	
\$47.50	\$15,152.50	\$45.00	\$14,355.00	
\$180.40	\$100,122.00	\$200.00	\$111,000.00	

\$250.00	\$2,000.00	\$180.00	\$1,440.00
\$161.10	\$26,098.20	\$170.00	\$27,540.00
\$166.10	\$34,714.90	\$175.00	\$36,575.00
\$250.00	\$2,000.00	\$210.00	\$1,680.00
\$56.50	\$11,469.50	\$70.00	\$14,210.00
\$67.50	\$16,267.50	\$80.00	\$19,280.00
\$15.10	\$40,996.50	\$15.00	\$40,725.00
\$128.50	\$1,413.50	\$100.00	\$1,100.00
\$3,190.00	\$1,914.00	\$3,000.00	\$1,800.00
\$22.50	\$104,400.00	\$10.00	\$46,400.00
\$4.85	\$124,722.60	\$6.00	\$154,296.00
\$19.25	\$92,785.00	\$20.00	\$96,400.00
\$40.53	\$4,458.30	\$20.00	\$2,200.00
\$41.98	\$4,198.00	\$22.00	\$2,200.00

\$43.99	\$4,399.00	\$25.00	\$2,500.00
\$44.75	\$42,154.50	\$45.00	\$42,390.00
\$49.80	\$23,754.60	\$55.00	\$26,235.00
\$62.80	\$15,700.00	\$70.00	\$17,500.00
\$79.80	\$77,805.00	\$80.00	\$78,000.00
\$105.60	\$31,363.20	\$90.00	\$26,730.00
\$105.60	\$4,329.60	\$120.00	\$4,920.00
\$2,100.00	\$8,400.00	\$2,000.00	\$8,000.00
\$2,950.00	\$5,900.00	\$3,200.00	\$6,400.00
\$2,650.00	\$47,700.00	\$2,750.00	\$49,500.00
\$2,780.00	\$13,900.00	\$3,000.00	\$15,000.00
\$4,650.00	\$23,250.00	\$3,200.00	\$16,000.00
\$975.00	\$4,875.00	\$1,500.00	\$7,500.00
\$22,500.00	\$22,500.00	\$50,000.00	\$50,000.00
\$33.00	\$132.00	\$100.00	\$400.00
\$16,000.00	\$16,000.00	\$20,000.00	\$20,000.00
\$54,000.00	\$54,000.00	\$25,000.00	\$25,000.00
\$14.76	\$1,062.72	\$135.00	\$9,720.00
\$11.50	\$276.00	\$125.00	\$3,000.00

\$36.58	\$109.74	\$125.00	\$375.00
\$1,886.78	\$45,282.72	\$3,500.00	\$84,000.00
\$1,157.06	\$27,769.44	\$1,250.00	\$30,000.00
\$0.58	\$8,009.22	\$2.00	\$27,618.00
\$1.45	\$29,419.05	\$2.50	\$50,722.50
\$0.79	\$3,636.37	\$2.25	\$10,356.75
\$0.22	\$950.40	\$2.00	\$8,640.00
\$5.74	\$1,549.80	\$6.00	\$1,620.00
\$6.69	\$14,243.01	\$20.00	\$42,580.00
\$8.63	\$20,159.68	\$22.00	\$51,392.00
\$14.25	\$1,154.25	\$28.00	\$2,268.00
\$1,426.72	\$34,241.28	\$2,000.00	\$48,000.00
\$566.50	\$566.50	\$1,000.00	\$1,000.00
\$179.30	\$4,482.50	\$200.00	\$5,000.00
\$12,185.80	\$12,185.80	\$3,000.00	\$3,000.00
\$220.00	\$440.00	\$30.00	\$60.00
\$11.00	\$132.00	\$20.00	\$240.00

\$16.50	\$231.00	\$20.00	\$280.00
\$13.20	\$2,376.00	\$18.00	\$3,240.00
\$19.80	\$1,742.40	\$22.00	\$1,936.00
\$83.00	\$11,122.00	\$200.00	\$26,800.00
\$9,200.00	\$18,400.00	\$6,500.00	\$13,000.00
\$2,300.00	\$9,200.00	\$3,000.00	\$12,000.00
\$250.00	\$1,000.00	\$750.00	\$3,000.00
\$350.00	\$350.00	\$500.00	\$500.00
\$7,150.00	\$429.00	\$6,500.00	\$390.00
\$1,787.50	\$464.75	\$6,500.00	\$1,690.00
\$1.92	\$403.20	\$4.00	\$840.00
\$4,840.00	\$6,001.60	\$6,500.00	\$8,060.00
\$302.50	\$605.00	\$250.00	\$500.00
\$110.00	\$1,980.00	\$150.00	\$2,700.00
\$2.20	\$1,427.80	\$5.00	\$3,245.00
\$1.80	\$22,611.60	\$3.00	\$37,686.00
\$1.00	\$10,000.00	\$1.00	\$10,000.00
\$23,000.00	\$23,000.00	\$20,000.00	\$20,000.00
\$200.00	\$400.00	\$250.00	\$500.00
\$1,713	,785.14	\$1,867	,567.25